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Diploma Engineering — SEMESTER — II « EXAMINATION — SUMMER - 2014
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Subject Name: Basic Physics
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer the following (Any Seven)

Diffrentiate between Sponteneous and Stimulated emmision.

Define : (1) Precision (2) Accuracy

Explain in brief Constructive and Destructive interference.

Give the Sl units of following physical quantity : (1) Force (2) Density
Define following terms: (1) Frequency of waves (2) Amplitude of Waves
State expression for equivalent resistance for resistors connected in series and
parallel connections.

Define Superconductivity and Critical temperature.

Define resonance with suitable example.

State charateristics of LASER.

What is rectifire ? Why P- N junction diode is used as a rectifire ?

Explain construction and working of micrometer screw gauge with neat and
clean diagram of micrometer screw gauge and lable each parts.

OR
Explain construction and working of Vernier caliper with neat and clean
diagram of vernier calipers and lable each parts.
What is electric field and electrical potential. Define electrical potential
diffrence and give its units.

OR
State Kirchhoff’s first and second law. State sign convection for application of
Kirchhoff law.
Pitch of micrometerscrew is 1 mm. if the circular scale is divided in equal 100
divisions, calculate least count in centimeter.

OR
Main scale of vernier calipers is calibrated in millimeter. 50 division of
vernier scale is equivalent to 49 divisions of main scale. Calculate the least
count in centimeter.
Explain elctromagnetic Induction. State Len’z Law. Define magnetic flux
with units.

OR
Explain Intensity of magnetic field. Describe characteristics of magnetic field
lines. Explain magnetic flux with units.
What is electrolysis ? State and explain Faraday’s laws of elctrolysis

OR
Write a shortnote on paramagnetism.

Calculate the heat generated when current of 10 ampere flows through a
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wire of resistance 16.8 ohms for 5 minutes. (Take J = 4.2 Joule/cal.)

OR
A heater is marked by rating 50 volt, 100 watt. Calculate its resistance and
amount of current flows through it.

State principle of optical fibre. Define for Optical Fiber: Acceptance Angle,
Critical Angle, Numerical Aperture

OR
Explain population Inversion, Optical Pumping and metastable state for
LASER
A radio transmits waves of wavelength 30 m. If the velocity of the waves is
1500 Km/s, find it’s frequency.

OR
An object is placed at a distance of 15 cm and an image from a convex lens is
formed at a distance of 30 cm. Calculate focal length and power of lens.
Write a short note on Nano-materials.

Explain P-N junction diode Voltage —Current characteristics with figures.
Discuss common emitter transistor characteristics with circuit.
State properties of electromagnetic Waves.
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